Automating Tomorrow™

@ESTFICD
a XY company

DESTACO Custom Catalog

12/07/2020

) CESEHSA

soluciones

Cesehsa

México
info@cesehsa.com.mx
cesehsa.com.mx

destaco.com



DESTACO Custom Catalog

12/07/2020

This catalog is a custom document and the products included is based on
your unique selection from portions of complete catalogs that already exist.

Please refer to our full catalogs for more information on products not included
in this customized document.

Table of Contents
Pallet Clamp PC-HPC-23

@ESTF’CD IN-TOC | 2 Dimensions and technical information are subject to change without notice
_ a TIIE) company



DESTACO Custom Catalog

12/07/2020

Table of Contents (continued)

Dimensions and technical information are subject to change without notice IN-TOC | 3 @ESTQCD
. a XY company



82U50-3

Pneumatic Pallet Clamp | Ordering and Technical Information

@IEI - (300) (1 ) (oo )

Accessorles Description
No Accessories
Size  Description

300 Front, top or bottom mounting Sensor  Description
330 Top or bottom mounting only L1 Without Sensing System
c8 Inductive Sensing System with
M8x1 Connector (8EA-023-2)
B7 Inductive Sensing System,
M12x1 Connector (8EA-060-1)
B8 Inductive Sensing System with

M12x1 Cable Connector (8EA-031-1)

Specification Unit 82U50
[Ibf] [899]

Max. Holding Force @ 5 bar N 4000
Max. Clamping Force @ 5 bar [lhﬂ 5809093
Max. Operating Pressure [ESi] [867]

ar
82U50-330 Cylinder Diameter mm 50

[Ib] [7.04]
kg

’

Weight

@ESTF’CD PC-HPC | 23 Dimensions and technical information are subject to change without notice
a TI) company



['I ‘I 8:0.008]

82U50-3

Pneumatic Pallet Clamp | Dimensions

['I .44t0.008]

30%02 — o 3615:0,2
'l . 'I 8:0.008 ['I .0420.008]
[ 30t0,2 ] ™ 26,510,2
~ [0.98=0008]  [1.38%0:00%]
25%02 3502
ﬁé 0 OO +
O~
[2.36] R [1.77:3500; o Bew
60 45§8[3£§;¢A§6H7
e —=a—
[0.12] J | 2X @67 [0.24"]
3 [3.07=0008] ‘ 10[0.39]7
8X M6 76,502
12 [0.47]T
[5.12]
130
. . . | [~3.35] [0.94] o [1.93=0.008]
At a clamping high of the workpiece ~85 : Swivelling range 4902
of 11,5-12,2 [0.45-0.48] by 5 bar [@1.57] ‘ ‘ Area of interface
[73 psi] the clamp Iocks'over @40 [~1.38] o [0.47]
center (over-center locking). 35 12
[0.81]
% j 205
}
+0.004° E for
471 | B or 276238
C 12 70:0% e o6
il e —
I 4X M6 12
[~9.96] *‘ ‘ ? [1.26=0004] ~11.06] | || N [0.47]%
—~ +0,1 —_
253 32 281 2X 6"
[1.2620001 10 [0.39]7
_ > = 39:002
: 7—“‘\‘ 4»\ [022 1+00.0208]
LT 71~ The clamping element is 5.5
G1/8 o also prepared for a magnetic
[ £ position control system (cylinder
(I has a magnetic piston).
i
[
2X @87 [0.3117] AX M8
1305117 13[0.51]T
I
VN %r\'/ 1 mm [INCH]
! W W W ['I '|8t0.008 for M8 ]
‘ @%@&730;%2%%” THIRD ANGLE
; A PROJECTION
[~5.71]
- ~145 ’
Dimensions and technical information are subject to change without notice PC-HPC | 24 @ESTQCD

a TIED company



82U50-3

Pneumatic Pallet Clamp | Dimensions

['I . '| 8:0.008] ['I .4410.008]
30t0,2 36,5t0,2
[1.18=0008] o [1.04=0008]
mm [INCH] 3002 26,5%02
@ E] [0.98=0.c08]  [1.38=000%]
[ 2502 [ 35%02
HERAST R a—— : *
[2.36] \ — | (177253008 o Bew
60 piC ‘m ; 452085
4 © & *
(0.12] J‘ \ 2X @6H7 [0.24"7]
3 . [3.01=0009 10[0.39]T
8X Mé 76,5%02
12[0.47]7
[5.12] _
130

Swivelling range

[~3.23]
At a clamping high of the workpiece “7 ~82 [1.14]

of 11,5-12,2 [0.45-0.48] by 5 bar | (g7 3] 29 Area of interface
[73 psi] the clamp locks over @35 [0.47]
: [~1.38] 12 =
center (over-center locking). — ~35
[ I ‘
@ = e S Y
[3.94:0,004]
/| [0.57] o 2o
i 14,5 ™ 100
ol
Lyl 1 Lyl

4 ? ]
[~9.96] *‘ [1.26%0004] [~11.06]
~253 3201 ~281

[1.26*0007]
_ = 392002

T The clamping element is

G1/8 =) also prepared for a magnetic
e position control system (cylinder
[ /f has a magnetic piston).
!

Ll

2X @87[0.3147] 4X M8
13[0.51]7 13[0.51]7

| \«M 1
SEARY
A
SEAR

['l 1 810.008 for M8

[
e @
o | o |

+0.001 for @8/
302555 %ur Ge
T
[~5.71]
~145
DESTRACO PC-HPC | 25 Dimensions and technical information are subject to change without notice

a T company



82U50-3 SENSORS

Pneumatic Pallet Clamp | Dimensions and Technical Specifications

Air Consump’rion dm? 5 Air Consumption
© 2200 0.0777
2 2000 0.0706
(%]
©  1.800 0.0636
o)
3  1.600 0.0565
a}
T 1.400 0.0494
£ 1200 00424 P
E 1000 00353 //
€ 0800 0.0283
;’ 0.600 0.0212
< 0 44 58 73 87 102 116 psi
0o 3 4 5 6 7 8 bar
Operating Pressure
C8 M8 Inductive Sensing - B7 M12 Inductive Sensing B8 M12 Inductive Sensing
System : System with Pigtail
Connector
[0.39] [0.39] : -3
=0 : ~ o s 7
051 _ | . 10.71] ) 7M. o3 [©0.22] ™
13 = | 1@0.22] 18 S = L [20.22] : T @55
, 5, o 1
(0] * (0] * [©]
o ) o ] 10.55]
o [H] [0.55] o -@- [0.55] - 14
[2.76] ! [2.76] ! 70 1.81] :
70 [1.81] : 70 [1.81] ; g
) 46 E @ 46 E E
N M8 N M12 g
a8 [=
[0.49] [0.58]
[0.91] [0.91] 14
> 23 - 12,5 - 23 - ,8 (
[0.65] [0.65] -
16.5 ~ 16.5
M12
10911 |
23
Sensor Cable Accessories and Spare Parts Inductive Sensor N
. . L4 _ 3 2]
Sensor Accessories Order no. er!ng Dlag.ram
Sensing system immune
B7/B8 Sensor Cables (1 connector & 5 m cable) to interference from - 3@1 T 727}
M12x1 connector, straight, 5-pin 8EL-002-1 A.C./D.C. arc welding. 9 ] } yelows |
M12x1 connector, 90° angular, 4-pin 8EL-003-1 ‘L 5 E: J
C8 Sensor Cables (1 connector & 5 m cable) a ‘
open closed
M8x1 connector, straight, 5-pin 8EL-009-1 .
M8x1 connector, 90° angular, 4-pin 8EL-007-1
M8 to M12 Adaptor 8EL-008-1
Sensing system attached to cylinder fMex
Magnetic sensors plus installation material 8EA-025-1 096 7
Spare Parts Order no. a4
Pneumatic Cylinder 8PW-007-1 7/
Seal Kit 8PW-007-1-00 M12x1 M8x1
Spare Part Kit: Bushings, Bearings, pins 8KB-047-1 Straight Angular Straight
Cable Cable Cable
Dimensions and technical information are subject to change without notice PC-HPC ‘ 26 DEeEeEsTACO

a TIED company



DesTACO

Netherlands

('Y
Great Britain
Auburn Hills, MI USA

Mt. Juliet, TN USA France

Red Wing, MN USA

Wheeling, IL USA

GLOBAL LOCATIONS

- NORTH AMERICA

Corporate Headquarters

Auburn Hills, Michigan

Toll Free: 1.888.DESTACO
Marketing: marketing@destaco.com

Global Technology Center

Auburn Hills, Michigan

Tel: 1.248.836.6700

Customer Service: customerservice@destaco.com

Mt. Juliet, Tennessee
Tel: 1.888.DESTACO
Customer Service: customerservice@destaco.com

Wheeling, Illinois
Tel: 1.800.645.5207
Customer Service: camco@destaco.com

Red Wing, Minnesota (Central Research Laboratories)
Tel: 651.385.2142
Customer Service: sales@centres.com

© Copyright, 2020 DESTACO. All rights for layout, photos and text rest with the publisher
DESTACO. All photomechanical or other reproductions only with our express permission.
All sales are based on our terms and conditions of sale, delivery and payment.

a JIIE) company

China

h

Thailand

A

~ASIA

Thailand
Tel: +66-2-326-0812
Customer Service: info@destaco.com

China
Tel: +86-21-6081-2888
Customer Service: china@destaco.com

India
Tel: +91-80-41123421-426
Customer Service: india@destaco.com

EUROPE

Germany
Tel: +49-6171-705-0
Customer Service: europe@destaco.com

France
Tel: +33-4-73545001
Customer Service: france@destaco.com

:Great Britain
Tel: +44-1902-797980
Customer Service: uk@destaco.com
Spain
Tel: +34-936361680
Customer Service: spain@destaco.com

Netherlands
Tel: +31-297285332
Customer Service: benelux@destaco.com

Lf] &)

" [



